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Task 3a : _individual work
What's Wrong?

Objectives:

) Toadd and subtract fractions. '
i) To multiply a fraction by a whole number.
it} To connect conceptual and procedural knowledge.

Read the following number statements éérefut!y. Circle the wrong answer.

Show the correct solution on the right. (4 marks) .

Which is Wrong? . Correct Answer(s)
a, i -+ -I-'. + _1.. = Z.
4 2 8 8
b. 2 . l — l = 11
<] 3 3
Correct Answer(s)
c i x28 =16
7 . -
d. -g X 54 = 40




Task 3b: WMath Analysis —Fraction

bbiective: _ _

. To provide opportunity for pupils to use their critical thinking skills to discover the error

"and correct it - o : : - S
What's Wrong? -

Read the word problern helow carefully.
i) Identify the correct model and filf in the blank with the correct answer. (1 mark)

Word Problem

Ali had 245 marbles. % of them were green and —;- of the remainder were blue and the

rest were yellow marbies. '
(@) How many green marbles did he have? o .
17 (b) How many more yellow marbles than green marbles did he have?
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i) The correct model is Model




1} My solution: You ma
You have to write yo

y use the correct model fo help you solve the word problem.
ur number sentences and word s_tatqrqentgp!e_;ady. (4 marks) .

—

it} My solufion:

" Answer: .(a)

(b)

~~~ The End ~~~






EXAM PAPER 2012
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SUBJECT: PRIMARY 4 MATHEMATICS

TERM : .CA2
b ' 2-16/-1/3=2-1/6—2/6
.- . . - . . —r 13]6' " :
=11
d 5/6 x 54/1 = 45
)3
iiy7u>245

aylu>245+7 = 35
b)3u>35x 3 = 105
105-35 = 70
a)He has 35 green marbles.
'b)He has 70 more yellow marbles than green marbles.
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